
DATA 8
Fall 2020

Tutoring Section 6
Conditionals and Iteration

 



Logistics
● Autograder is working again! Grades will come in soon.
● Feedback Form:

■ Form: https://tinyurl.com/feedbackD8Kevin
● Again, Tutor Office Hours (exclusively open for you all)

○ Tuesday: 10:30-11:00am & 1:00-1:30pm
○ Please let me know if you are attending

All resources can be found on kevin-miao.com



Association vs Causation
After grading the homework, I wanted to discuss these questions:

● What is the difference between an association and a causation?

● What are confounding factors?

● When do we need to establish a randomized control experiment?

association some kind of patterulling
causes7h4causation directly affects the something directionality

some factor that can possibly confuse you in

establashing causal relationship

getting rid of Catholics factors cea

establish a causal relationship



Today
● Mini Review

○ Conditionals
○ Iteration
○ What to do or not to do?

● Worksheet



Conditionals
● Goal: Depending on a certain value, we want to use different lines 

of code.
● Structure:

● Example: if color == ‘Blue’:

print(“Go Bears!)
else:

print(“I hate this color”)

if <boolean>:

do something
elif <boolean>:

do something else
else:

do something different

yes



Iteration
● Goal: We want to do same thing for each item in a list/array.
● Structure:
for something in list/array:

do something

● Example:
for book in [“Book1”, “Book2”, “Book3”]:

print(book)

● Another implementation is to do the same thing x number of times:
x = 0

for i in np.arange(100):

x = x + 1

book Books

O l 993
a 4 t



Common mistakes/issues
● Is this correct?

for name in [‘David’, ‘Swupnil’]:

return name

● Has to be list/array

for i in len(100):

print(”Repeat 100 times”)

● Are these two the same?

if x % 2 == 0:

print(‘Divisible by 2’)

else:

print(’Divisble by 4’)

if x % 2 == 0:

print(’Divisible by 2’)

print(‘Not divisible by 2’)

Xno
print crane

only belongstoffinction Notdivisibleby2
Mean

A000
The

NP a a'do

always printed



Worksheet

Link: https://tinyurl.com/d8tutweek6



Q1

WAAG Á� CKJdEPEKJaHO� IPANaPEKJ 
DaPa Ã TQPKNEJC 

 

¼  CKJdEPEKJaH SPaPAIAJPO aJd IPANaPEKJ  
KAU CKJcALPO 
Conditional Statements 
WA caJ QOA cKJdEPEKJaH OPaPAIAJPO PK SNEPA cKdA aJd cNAaPA BQJcPEKJO PDaP LANBKNI dEBBANAJP 
KLANaPEKJO baOAd KJ cANPaEJ cKJdEPEKJO� AO a NABANAJcA� DANA EO DKS cKJdEPEKJaH OPaPAIAJPO 
SKNG� 
LI [ > 10: 

DR VRPHWKLQJ 
HOLI [ > 5: 

DR VRPHWKLQJ 
HOVH: 

DR VRPHWKLQJ 
 
Iteration 
FKN HKKLO EJ PUPDKJ caJ LKPAJPEaHHU aHHKS QO PK dK PSK dEBBANAJP KLANaPEKJO� FENOP� PDAU aHHKS QO 
PK EPANaPA PDNKQCD aNNaUO� IaJELQHaPEJC AacD AHAIAJP aO SA SEOD� AHPANJaPERAHU� SA caJ QOA BKN 
HKKLO PK NALAaP HEJAO KB cKdA IaJU PEIAO� ETaILHAO KB DKS BKN HKKLO caJ bA QOAd aNA bAHKS� 
 
IRU LWHP LQ VRPH_aUUa\: 

SULQW(LWHP) 
KN 
IRU L LQ QS.aUaQJH(1000): 

SULQW(³HHOOR´) 
 

PNacPEcA PNKbHAIO 
QQestion ¼� ​ETaIEJA PDA BQJcPEKJ� PDAJ aJOSAN PDA MQAOPEKJO bAHKS� IP DaO bAAJ 
SNEPPAJ SEPD a LQNLKOAHU RaCQA JaIA aJd aNCQIAJPO� 
 
GHI P\VWHU\_IXQFWLRQ([): 

LI ([ > 0): 
UHWXUQ ³PRVLWLYH´ 

HOLI ([ < 0): 
UHWXUQ ³NHJaWLYH´ 

HOVH: 
UHWXUQ ³NHLWKHU´ 

What does each of the 
following return?

1. Mystery_function(10)

2. Mystery_function(-1)

3. Mystery_function(0)

positive

negative

neither



Q2.1

¼�¼ ​WhaP SKQHd ​P\VWHU\_IXQFWLRQ(10) ​ NePQNJ� 
 
 
¼�½​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(-1) ​ NePQNJ� 
 
 
¼�¾​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(0) ​ NePQNJ� 

 
 
QQestion ½�​ The fKN HKKL OPaPeIeJP beHKS OPKNeO Phe HeJgPh Kf each JaIe iJ ​QaPHV ​ iJ a 
JeS aNNaU caHHed ​OHQJWKV ​� 
 
OHQJWKV = PaNH_aUUa\() 
QaPHV = PaNH_aUUa\(µBRb¶, µSaUaK¶, µMLFKaHO¶, µSaP¶) 
 
IRU QaPH LQ QaPHV: 

OHQJWKV = QS.aSSHQG(OHQJWKV, OHQ(QaPH)) 
 

½�¼​ FKN each iPeNaPiKJ beHKS� fiHH iJ Phe RaHQe Kf ​QaPH ​ aO SeHH aO ShaP ​OHQJWKV ​ ​HKKkO 
Hike� 
 
IPeNaPiKJ ¼�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ½�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¾�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¿�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 

 
½�½​ NKS� HeP�O OaU PhaP iJOPead Kf OPKNiJg HeJgPhO� Se SaJP PK OPKNe Phe JaIe aO HKJg aO 
Phe HeJgPh Kf Phe JaIe iO gNeaPeN PhaJ ¿� FiHH iJ Phe fKHHKSiJg fKN HKKL OPaPeIeJP OQch 
PhaP ​ORQJHU ​ cKJPaiJO PheOe JaIeO� 
 
ORQJHU = PaNH_aUUa\() 
 
IRU QaPH LQ _________________________: 

LI ________________________: 
ORQJHU = __________________________________ 

 
½�¾​ WhaP JaIeO SKQHd ​ORQJHU ​ cKJPaiJ afPeN Phe fKN HKKL eTecQPeO� 
 

 

¼�¼ ​WhaP SKQHd ​P\VWHU\_IXQFWLRQ(10) ​ NePQNJ� 
 
 
¼�½​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(-1) ​ NePQNJ� 
 
 
¼�¾​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(0) ​ NePQNJ� 

 
 
QQestion ½�​ The fKN HKKL OPaPeIeJP beHKS OPKNeO Phe HeJgPh Kf each JaIe iJ ​QaPHV ​ iJ a 
JeS aNNaU caHHed ​OHQJWKV ​� 
 
OHQJWKV = PaNH_aUUa\() 
QaPHV = PaNH_aUUa\(µBRb¶, µSaUaK¶, µMLFKaHO¶, µSaP¶) 
 
IRU QaPH LQ QaPHV: 

OHQJWKV = QS.aSSHQG(OHQJWKV, OHQ(QaPH)) 
 

½�¼​ FKN each iPeNaPiKJ beHKS� fiHH iJ Phe RaHQe Kf ​QaPH ​ aO SeHH aO ShaP ​OHQJWKV ​ ​HKKkO 
Hike� 
 
IPeNaPiKJ ¼�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ½�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¾�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¿�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 

 
½�½​ NKS� HeP�O OaU PhaP iJOPead Kf OPKNiJg HeJgPhO� Se SaJP PK OPKNe Phe JaIe aO HKJg aO 
Phe HeJgPh Kf Phe JaIe iO gNeaPeN PhaJ ¿� FiHH iJ Phe fKHHKSiJg fKN HKKL OPaPeIeJP OQch 
PhaP ​ORQJHU ​ cKJPaiJO PheOe JaIeO� 
 
ORQJHU = PaNH_aUUa\() 
 
IRU QaPH LQ _________________________: 

LI ________________________: 
ORQJHU = __________________________________ 

 
½�¾​ WhaP JaIeO SKQHd ​ORQJHU ​ cKJPaiJ afPeN Phe fKN HKKL eTecQPeO� 
 

 

TED

u items
y iterations

Lhc'Bob

Bob 13
Sarah 3,5
krichael 13,517
Sam 13,517,3



Q2.2-2.3

¼�¼ ​WhaP SKQHd ​P\VWHU\_IXQFWLRQ(10) ​ NePQNJ� 
 
 
¼�½​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(-1) ​ NePQNJ� 
 
 
¼�¾​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(0) ​ NePQNJ� 

 
 
QQestion ½�​ The fKN HKKL OPaPeIeJP beHKS OPKNeO Phe HeJgPh Kf each JaIe iJ ​QaPHV ​ iJ a 
JeS aNNaU caHHed ​OHQJWKV ​� 
 
OHQJWKV = PaNH_aUUa\() 
QaPHV = PaNH_aUUa\(µBRb¶, µSaUaK¶, µMLFKaHO¶, µSaP¶) 
 
IRU QaPH LQ QaPHV: 

OHQJWKV = QS.aSSHQG(OHQJWKV, OHQ(QaPH)) 
 

½�¼​ FKN each iPeNaPiKJ beHKS� fiHH iJ Phe RaHQe Kf ​QaPH ​ aO SeHH aO ShaP ​OHQJWKV ​ ​HKKkO 
Hike� 
 
IPeNaPiKJ ¼�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ½�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¾�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¿�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 

 
½�½​ NKS� HeP�O OaU PhaP iJOPead Kf OPKNiJg HeJgPhO� Se SaJP PK OPKNe Phe JaIe aO HKJg aO 
Phe HeJgPh Kf Phe JaIe iO gNeaPeN PhaJ ¿� FiHH iJ Phe fKHHKSiJg fKN HKKL OPaPeIeJP OQch 
PhaP ​ORQJHU ​ cKJPaiJO PheOe JaIeO� 
 
ORQJHU = PaNH_aUUa\() 
 
IRU QaPH LQ _________________________: 

LI ________________________: 
ORQJHU = __________________________________ 

 
½�¾​ WhaP JaIeO SKQHd ​ORQJHU ​ cKJPaiJ afPeN Phe fKN HKKL eTecQPeO� 
 

 

¼�¼ ​WhaP SKQHd ​P\VWHU\_IXQFWLRQ(10) ​ NePQNJ� 
 
 
¼�½​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(-1) ​ NePQNJ� 
 
 
¼�¾​ WhaP dKeO ​P\VWHU\_IXQFWLRQ(0) ​ NePQNJ� 

 
 
QQestion ½�​ The fKN HKKL OPaPeIeJP beHKS OPKNeO Phe HeJgPh Kf each JaIe iJ ​QaPHV ​ iJ a 
JeS aNNaU caHHed ​OHQJWKV ​� 
 
OHQJWKV = PaNH_aUUa\() 
QaPHV = PaNH_aUUa\(µBRb¶, µSaUaK¶, µMLFKaHO¶, µSaP¶) 
 
IRU QaPH LQ QaPHV: 

OHQJWKV = QS.aSSHQG(OHQJWKV, OHQ(QaPH)) 
 

½�¼​ FKN each iPeNaPiKJ beHKS� fiHH iJ Phe RaHQe Kf ​QaPH ​ aO SeHH aO ShaP ​OHQJWKV ​ ​HKKkO 
Hike� 
 
IPeNaPiKJ ¼�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ½�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¾�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 
IPeNaPiKJ ¿�  ​QaPH = ________________ ​  �   ​OHQJWKV = __________________ 

 
½�½​ NKS� HeP�O OaU PhaP iJOPead Kf OPKNiJg HeJgPhO� Se SaJP PK OPKNe Phe JaIe aO HKJg aO 
Phe HeJgPh Kf Phe JaIe iO gNeaPeN PhaJ ¿� FiHH iJ Phe fKHHKSiJg fKN HKKL OPaPeIeJP OQch 
PhaP ​ORQJHU ​ cKJPaiJO PheOe JaIeO� 
 
ORQJHU = PaNH_aUUa\() 
 
IRU QaPH LQ _________________________: 

LI ________________________: 
ORQJHU = __________________________________ 

 
½�¾​ WhaP JaIeO SKQHd ​ORQJHU ​ cKJPaiJ afPeN Phe fKN HKKL eTecQPeO� 
 

 

names

body
leuchaine y c

ripappendclanger name

Sarah a d Michaels



Q2.4

½�¿ ​FiJaHHU� HKKk aP PhiO HaOP fKN HKKL beHKS� WhaP RaHQeO dKeO ​L ​ Pake KJ PhNKQghKQP� 
HKS iO ​L ​ QOed aO cKILaNed PK Phe SaU ​QDPH ​ iO QOed iJ Phe LNeRiKQO fKN HKKLO� 
 
FRXQWHU = 0 
IRU L LQ QS.DUDQJH(1000): 

FRXQWHU = FRXQWHU + 1 
 
 
 
 
 
 
 
 

QQestion ¾� ​SQLLKOe UKQ haRe aJ aNNaU caHHed ​VDODULHV ​� cKJPaiJiJg Phe OaHaNU 
iJfKNIaPiKJ Kf À iJdiRidQaHO� YKQ SKQHd Hike PK dePeNIiJe ShaP LeNceJPage Kf Phe PKPaH 
OaHaNieO each iJdiRidQaH®O OaHaNU cKILNiOeO� YKQ SaJP PK KQPLQP aJ aNNaU� ​SURSRUWLRQ 
SheNe Phe iPh eHeIeJP Kf ​SURSRUWLRQ ​ cKNNeOLKJdO PK ShaP LeNceJPage Kf Phe PKPaH 
OaHaNU OaHaNU�iPeI i¡ iO� 
 
FKN eTaILHe� if ​VDODULHV ​ SaO eMQaH PK aJ aNNaU ​[1,2,3,1,3] ​� PheJ 
SURSRUWLRQ.LWHP(0) ​ SKQHd be »�¼�  
 
¾�¼​ YKQN fNieJd SNiPeO OKIe cKde� bQP iP dKeOJ�P SKNk� FiJd Phe eNNKN PhaP UKQN fNieJd 
Iade� WhaP SKQHd Phe cKde KQPLQP if eTecQPed aO iO� HKS SKQHd UKQ fiT iP� 

 
VDODULHV = PDNHBDUUD\(25, 50, 100, 25, 100) 
WRWDO = VXP(VDODULHV) 
 
IRU VDODU\ LQ VDODULHV: 

SURSRUWLRQ = PDNHBDUUD\() 
SHUFHQWDJH = VDODU\/WRWDO 
SURSRUWLRQ = QS.DSSHQG(SURSRUWLRQ, SHUFHQWDJH) 

 
 
 
 
 
 

g
body

i an item ranging from Lo 9997
l 10007
returns

I is not in the body she same
T we don't care about the
value of ie



Q3.1

½�¿ ​FiJaHHU� HKKk aP PhiO HaOP fKN HKKL beHKS� WhaP RaHQeO dKeO ​L ​ Pake KJ PhNKQghKQP� 
HKS iO ​L ​ QOed aO cKILaNed PK Phe SaU ​QDPH ​ iO QOed iJ Phe LNeRiKQO fKN HKKLO� 
 
FRXQWHU = 0 
IRU L LQ QS.DUDQJH(1000): 

FRXQWHU = FRXQWHU + 1 
 
 
 
 
 
 
 
 

QQestion ¾� ​SQLLKOe UKQ haRe aJ aNNaU caHHed ​VDODULHV ​� cKJPaiJiJg Phe OaHaNU 
iJfKNIaPiKJ Kf À iJdiRidQaHO� YKQ SKQHd Hike PK dePeNIiJe ShaP LeNceJPage Kf Phe PKPaH 
OaHaNieO each iJdiRidQaH®O OaHaNU cKILNiOeO� YKQ SaJP PK KQPLQP aJ aNNaU� ​SURSRUWLRQ 
SheNe Phe iPh eHeIeJP Kf ​SURSRUWLRQ ​ cKNNeOLKJdO PK ShaP LeNceJPage Kf Phe PKPaH 
OaHaNU OaHaNU�iPeI i¡ iO� 
 
FKN eTaILHe� if ​VDODULHV ​ SaO eMQaH PK aJ aNNaU ​[1,2,3,1,3] ​� PheJ 
SURSRUWLRQ.LWHP(0) ​ SKQHd be »�¼�  
 
¾�¼​ YKQN fNieJd SNiPeO OKIe cKde� bQP iP dKeOJ�P SKNk� FiJd Phe eNNKN PhaP UKQN fNieJd 
Iade� WhaP SKQHd Phe cKde KQPLQP if eTecQPed aO iO� HKS SKQHd UKQ fiT iP� 

 
VDODULHV = PDNHBDUUD\(25, 50, 100, 25, 100) 
WRWDO = VXP(VDODULHV) 
 
IRU VDODU\ LQ VDODULHV: 

SURSRUWLRQ = PDNHBDUUD\() 
SHUFHQWDJH = VDODU\/WRWDO 
SURSRUWLRQ = QS.DSSHQG(SURSRUWLRQ, SHUFHQWDJH) 

 
 
 
 
 
 

0.1 G 2,0 3,0 1,0 3

c Empty array in fu loop
B

Result Co 3333



Q3.2

¾�½​ YKQ fiT Phe eNNKN deOcNibed abKRe� bQP iJ dKiJg OK� bNeak OKIePhiJg elOe� AgaiJ� fiJd 
Phe eNNKN iJ Phe cKde belKS� WhaP SKQld Phe cKde KQPLQP if eTecQPed aO iO� HKS SKQld 
UKQ fiT iP� 
 
VaOaULHV = PaNH_aUUa\(25, 50, 100, 25, 100) 
WRWaO = VXP(VaOaULHV) 
SURSRUWLRQ = PaNH_aUUa\() 
 
IRU VaOaU\ LQ VaOaULHV: 

SHUcHQWaJH = VaOaU\/WRWaO 
QS.aSSHQd(SURSRUWLRQ, SHUcHQWaJH) 

 
 

 
 
 

 
 

 

I

opatia

Tsa wins the value

IT



End of Section
● Please complete the anonymous Feedback form so I can improve 

my teaching:
● https://tinyurl.com/feedbackD8Kevin

● Solutions and notes will be posted as soon as possible.

● Email me if you have any questions: kevinmiao@berkeley.edu


